

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300

Wichita, KS 67202

INVOICE

Invoice Number: 143652

Invoice Date: Jun 3, 2014

Page:

Customer ID	Field Ticket #	Paymen	t Terms
Murfin	63297	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Jun 3, 2014	7/3/14

WOOD CONTRACTOR OF THE PARTY OF				SELECT STATE OF THE SELECT OF
Quantity	Item	Description	Unit Price	Amount
0.000000000	WELL NAME	Wilkens Unit #1-6		
235.00	CEMENT MATERIALS	Class A Common	17.90	4,206.50
442.00	CEMENT MATERIALS	Gel	1.05	464.10
663.00	CEMENT MATERIALS	Chloride	1.10	729.30
254.11	CEMENT SERVICE	Cubic Feet Charge	2.48	630.19
440.80	CEMENT SERVICE	Ton Mileage Charge	2.75	1,212.20
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
38.00	CEMENT SERVICE	Pump Truck Mileage	7.70	292.60
1.00	CEMENT SERVICE	Swedge Manifold Rental	275.00	275.00
38.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	167.20
1.00	CEMENT SUPERVISOR	LaRene Wentz		
1.00	EQUIPMENT OPERATOR	Wayne McGhghy		
		,		
444 0000	ES ADE NET DAVARIE	Subtotal		9,489.34

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

3,321.26

ONLY IF PAID ON OR BEFORE Jul 3, 2014

Subtotal	9,489.34
Sales Tax	440.09
Total Invoice Amount	9,929.43
Payment/Credit Applied	
TOTAL	9,929.43



ALLIED OIL & GAS SERVICES, LLC 063297 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BO SOUTH		EXAS 760			SERVICE POINT:			
DATE 6-3-14	SEC.	TWP.	RANGE 32	CALLED OUT	ONLOCATION S-30 Day	JOB START	108 FINISH	
Wilkens LEASE Unit	WELL#	1-6	LOCATION 5CO	HCEL 8	U, Y25	COUNTY	STATE	
OLD OR NEW (Ci		3.5.W. C. F.	J.		12-	Soft		
		- 0		20/0		J		
CONTRACTOR A	Me	1 fin	22	OWNER SO	une			
		face		_				
HOLE SIZE /	2 44	T.D.		CEMENT	00.	- 1	200	
CASING SIZE TUBING SIZE	0.70	DEF			ERED 33	SFSCO	1 SUCCE	
DRILL PIPE		DEP DEP	1 4		egel			
TOOL		DEF	Service of the servic	-				
PRES. MAX	of the second	The second of the second	IMUM	COMMON	23551	0 17.90	4206.50	
MEAS. LINE			E JOINT	POZMIX		@		
CEMENT LEFT IN	CSG.	151		_ GEL '		@ 1.03		
PERFS.	125	11.11		_ CHLORIDE	663#	E@ 1/10	72930	
DISPLACEMENT				_ ASC		_@		
	EQU	IPMENT		Mode	50 TO	-@A	300000	
•			0 - 1	1 - ()	100 105	(@)	-7-7-CL ()	
	CEMENT		one 6 Wien	11.890	1961357	56		
# 422 I	HELPER 4	uayn	e McGhghi	×		@		
	DDIVED.	Dall	larfuser (Ta	(21)		_@		
BULK TRUCK	DRIVER	10-77	car yareay	<u> </u>		_@		
	DRIVER				136 it (2	@ 7.70	70.00	
				 HANDLING A MILEAGE A 	1 × 38	x 275	12122	
	DE	MARKS:		MILEAGE ZEE	sycan so			
1. 30 705			4			TOTAL		
MIX 235				-	******			
	Lid)		culate		SERVI	CE		
	Ptop		Chiare	DEPTH OF JOE	799	5.421		
				_ PUMPTRUCK			5/223	
				_ EXTRA FOOTA		@		
				MILEAGE		@ 7,20	29260	
				- MANIFOLD	Swage		225.00	
				MILU	30	@ 4.40	162.20	
	11. ~	1.			12 17		प त्यंत्राम	
CHARGE TO: ∠	rus.	Tru		- (1,	431.30/3	336)	1,000	
STREET					- 0	TOTAL		
CITY	om.	ATE	210					
CITY		AIE	ZIP	- P	LUG & FLOA	r equipmen	1T	
						HE 15		
						_@		
To: Allied Oil &	Gas Servi	ces, LLC.						
You are hereby requested to rent cementing equipment					_@	-		
and furnish ceme						@		
			ne above work was					
done to satisfaction	on and su	pervision	of owner agent or			TOTAL		
			nd the "GENERAL					
TERMS AND CO	ONDITIO	NS" listed	I on the reverse side	e. SALES TAX (I	t Any)	3 0/1	-	
000	$\overline{}$	T		TOTAL CHAR	GES 1.40	1.31		
PRINTED NAME	DAMI	W. Tr	3011-	_ discount 🗵	30100/3	558 may	ID IN 30 DAYS	
A KINTED KAME	- Haft	()	ill-Great	_ DISCOUNT	01000	/ Nto V	צאש טכ אוו ש.	
010111777		((G, 168.07	MET.		
SIGNATURE							10	





PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Customer ID Murfin

Fax:

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300

Wichita, KS 67202

张·克尼	N	V	0			322
-------------	---	---	---	--	--	-----

Invoice Number: 143785

Invoice Date: Jun 14, 2014

Page:

Payment Terms

Net 30 Days

Job Location		20 20 20	Camp Location Service Date		Due Date		
KS1-03		<u> </u>	Oakley Jun 14, 2014		7/14/14		
Quantity	Item		Description		Unit Price	Amount	
1.00	WELLNAME		Wilkins Unit #1-6			<u> </u>	
300.00	CEMENT MATERIAL	LS	60/40/4% Gel		18.92	5,676.00	
75.00	CEMENT MATERIAL	LS	Flo Seal		2.97	222.75	
322.20	CEMENT SERVICE		Cubic Feet Charge		2.48	799.08	
511.25	CEMENT SERVICE		Ton Mileage Charge		2.75	1,405.94	
1.00	CEMENT SERVICE		Plug to Abandon		2,483.59	2,483.59	
38.00	CEMENT SERVICE		Pump Truck Mileage		7.70	292.60	
38.00	CEMENT SERVICE		Light Vehicle Mileage		4.40	167.20	
1.00	CEMENT SUPERVI	SOR	Alan Ryan				
1.00	EQUIPMENT OPER	ATOR	Kevin Ryan				
					ĺ		

Field Ticket #

63339

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

3,866.49

ONLY IF PAID ON OR BEFORE
Jul 14, 2014

Subtotal	11,047.14
Sales Tax	900.34
Total Invoice Amount	11,947.48
Payment/Credit Applied	
TOTAL	11,947.48



ALLIED OIL & GAS SERVICES, LLC 063339 Federal Tax I.D. # 20-8651475

SOUTHLAKE, TEXAS 76092	SERVICE POINT:
DATE / 14/14 SEC. 6 TWP. 17 RANGE 32	CALLED OUT ON LOCATION JOB START JOB FINISH
LEASE MAST WELL# 1-6 LOCATION 1/2, 4-	83 1/2 E Ninto County Statel
the straight (chief the)	367 1/0}
CONTRACTOR MARKIN 22 TYPE OF JOB 17A	OWNER Some
HOLE SIZE 7 1/2 T.D. CASING SIZE 87/0 DEPTH 200/	CEMENT
TUDING CIZE	AMOUNT ORDERED 300 60/40 402
DRILL PIPE 4/12 DEPTH	- Varioso
TOOL DEPTH	- The contract
PRES. MAX MINIMUM	0000000
MEAS. LINE SHOE JOINT	COMMON@
CEMENT LEFT IN CSG.	POZMIX @
PERFS.	CIII ODIDE
DISPLACEMENT	ASC
EQUIPMENT	60/40 430gel 3005/K @ 1892 56)600
PUMP TRUCK CEMENTER Man	Flo Sand 1516 @297 22225
BULK TRUCK BULK TRUCK	177-122
	11101000 1000 5,895.28
BULK TRUCK BULK TRUCK TOOL (TWS)	(0064.56/363)
# DRIVER .	- (12/15/106/106/106/106/106/106/106/106/106/106
DRIVER	HANDLING 322 00 @ 2 40 709
	MILEIGEN CONTRACTOR OF THE SHARE
REMARKS:	1-
2370 -5051K 305K-RH	TOTAL
1560' -ROSIL 2051K.MH	SERVICE
250' -505/6	
330' - 505/4	DEPTH OF JOB 23 20
60'-20514	PUMPTRUCK CHARGE 2483 12
	EXTRA FOOTAGE @
Thather	MILEAGE 28 @ > 20 292 60-
Alen Min Doel	MANIFOLD @ 40 14) 30
CHARGE TO: Mustin Drilling Co	
	1801.93/358
STREET	TOTAL 5.148.39
CITYSTATEZIP	
	PLUG & FLOAT EQUIPMENT
T. 10: 10: 10: 1	@
To: Allied Oil & Gas Services, LLC.	
You are hereby requested to rent cementing equipment	
and furnish cementer and helper(s) to assist owner or	
contractor to do work as is listed. The above work was	1881
done to satisfaction and supervision of owner agent or	TOTAL
contractor. I have read and understand the "GENER AT	
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)
O Viale	TOTAL CHARGES 11,047.14
PRINTED NAME AND ENGLISHED	DISCOUNT 3, 766.49 (35%) IF PAID IN 30 DAYS
SIGNATURE	7.180.64 Net.